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Diploma Semester -III Remedial Examination May - 2011

Subject code: 330601
Subject Name: SURVEYING -1

Date: 20 /05 /2011 Time: 02.30 pm - 05.00 pm

Total Marks: 70

Instructions:
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Q.3

Q.3

Q4

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version Authentic

(@) Define Surveying. State principles of surveying. Classify surveying.

(b) Enlist methods of chaining on sloping ground. Explain any one.

(c) A plan 6.5X6.5 cm represents an area of 152100sqm. Construct a
suitable scaleto readup to Im

(a) Explain the term magnetic declination & local attraction.

(b) Differentiate between Whole circle bearing & Quadrantal bearing

(c) A traverse ABCDA is made in the form of a rectangle in clock wise
direction. Ifthe fore bearing of line AB is 67° 30, find the bearings of
other lines.

OR

(c) The following bearings were observed while traversing with a compass.

Correct the bearings for local attraction & calculate the included angles.

Line FB BB

PQ S37° 30 E N37°30° W
QR S43° 15> W N41°15 E

RS N 65° 00° W S 60°00° E

SP N46° 00’ E S45°00° W

(@) Enlist types of leveling.

(b) Explain types of bench marks

(c) Following readings are taken with alevel & 4.0m leveling staff on
constantly falling ground. 1.235,0.445, 1.365, 2.560, 3.675, 0.220,
1.105, 1.890, 2.985, 0.105, 1.435 & 2.075. The first reading was taken on
BM having RL 100.555. Find the RL of points by rise & fall method.
Give arithmetic check.

OR

(@) Enlist uses of contour map.

(b) Draw contour line for following
(i) Apond (i) Avalley (iii)) A Vertical cliff (iv) Over hanging cliff

(c) A lamp on the top of a light house is visible just above the horizon from a
station at sea level. The distance of the lamp from the station is 24km.
Find the height of light house

(@) A staffreading 0.565 was taken on floor of a verandah. The staff reading
taken keeping the staff touching under side of slab is 2.355. Find the
ceiling height. If RL of flooris 100.110, find the RL of slab.

(b) Explain orientation of plane table.

(c) State advantages & disadvantages of plane table survey
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OR
A 20m chain was found 12cm too long after measuring a distance of
940m. At the end of day’s work it was found 15cm too long. If the total
distance measured is 1600m. Find the true distance.
(1) Explain balancing of sights in leveling.
(i1) Explain errors in leveling.

Explain temporary adjustment of theodolite
State the function of following

(1) Shifting head (ii) vertical tangent screw (iii) Clip screw (iv) Telescope

Explain the procedure to measure horizontal angle with a theodolite.
OR

Explain the following

(1) Indirect ranging

(i1) uses of theodolite

(ii1) measurement of deflection angle

(iv) Obstacles in chaining
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